


You need
- yarn for knitting (50gr)
- carton for stencil
-SCissors
- ribbons for decoration




th, cut the

rectangular carton stencil. The
20cm x 40cm.

same leng
size is
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body, arms and hair.

To make the body and the hair wind
the yarn horisontally 40-50 times.

To make the arms wind vertically 20-
30 times.




Cut the yarn from the one side and
take off from the other one.

Take the wound yarn intended for
the body, bend it in the center and

put in the yarn intended for the hair.




Leave 2-2,5 cm from the top (the
yarn of the hair inside) and tie the -
body with a separate piece of
yarn to make a head.




with a
ible to

yarn or it’s poss
make two plaits.
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\/- Make the arms in a form of a plait and
(‘“2 tie them at the extremities with
R separate pieces of yarn.
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